g & ghfea Hif:
@1 o 2 @_II

-1
a. L. gl
b. et .
c. fawm M. 3
d. g v. Wd
<frr fe e fereheat 3 & watfores I IR L
(A) a-Lb-TLc-ILd-1V (B) a-1,b-M,c-Ld-TV
© a-lLb-1V,c-1Ld-II (D) a-1V,b-1Lc-Ld-1I °
(E) TaRaus
5 eeffy - off T A A ©7
(A) FHUE @By =
© fa (D)
(E) i ¥
3 ﬁa%awagrmzﬁ%ag’wﬁnz%mmﬁm
(&9 e ®)
©) T® ®
(E) Sigaa 94
4 Where was the World Future Energy Summit 2024 organized?
(A) Paris (B) New Delhi
(D) London

(C) AbuDhabi
(E) Question not attempted

Foyey wrferer St TG TFIEH 2024 e} s foam T
EEACTaui

(A) = -(B)
(©) smam - @
(B) FEERAIH .
5 India- Japan 5t edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Rajasthan (B) Tamil Nadu
(D) Andhra Pradesh

(©) Himachal Pradesh
(E) Question not attempted
e cqut M T 3 e TSI H E g

T ST 59T SR A A
(Af TEIEEH (B) diUSg
(c) femrera wRw (D) Y
(E) 3@ 94
6 Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A) Manipur (B) Mizoram
(C) Services (D) Goa

(E) Question not attempted

Frafirfiara i & @it 2 e gt (2023-24) i <o w2

(Ay aforgE

R B) frsi
(©) wf¥gas D) 7
(B) 3rgeitd w4 hen

S17] ﬁ
2 [ P.T.O:
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11

12

13

In India General elections for 18th Lok Sabha were completed in how many phases?

A ¥ 1 goff wirerarT 3 fere T AT feher =ont 7 qof gu?

Q_,‘ab(

Aa) 6 7
©) 3 o (D) 4 0
(E)  Question not attcmplcd‘[ Wﬂ‘rt g5y ‘; ~90° and
Wi o = 25° ZQ = LB
If it is given that for two rightangled triangles PQR and ABC, /P =25° £C=25° i
PR = CA, then which of the f6llowing is true? '"f! PR = CA
Hﬁwﬁmw%%awmﬁma@mcﬁ £p=25°, /C=25°, £Q= LB 90 o
R a0,
(A) APQR=AACB MPQR = ACBA i Y
(C) APQR = ACAB . (D) APQR = ABAC P
(E) Question not attempte GHT-I'FETH&' i 0 B (\
%
- If= cosec® =2, then \/§C0t9+] 1t 5.
- _J:, Eé:’_ is equal to: 32 Qz 6
'qﬁcosecB:i, Mﬂ%w% - Ei)
¥ tanB:l-_}/_ ‘ ;_\:
T 2+ ol
@& (B) '
Lo ¥
[2. 2 o 22 \0
(C) x_:y gﬁy (D) Hx_y?_ =
- (E) Question not attempte‘cg ST o ﬁ
If a = 0.1069, then the valuewof J402 +1-4ag+3q is: i:g)
afe a = 0.1069, as \/4az+i%4a+3a HIAME E: ™
(A) 2.1069 (B) 0.4655 P
© 15345 ©f 1.1069 i
(E) Question not attemptc%l Wﬂ‘d e
forerferfiaa & sype forftaa g - 0
A) ,SeE I AT ST N3
o ety W ®) A wEmy )
TRARISESE IR ‘_.i : (D)  Fwar Iet ey =3
(E) 3Fgafa s AQ
Frardf T1eg qdm wﬁmﬁfﬁaﬁﬁwaﬁqﬁ% ™~
&5 (B) wm&w ™
(B) iufE g =P
W%mﬁwﬁaﬁmﬁaﬁﬁ \
(A) A
0 (B) et T3
© FHA ] =
(B) owguRa P 0
e |
s171 gigh 3 ~
/ ™~




14 Select the most appropriately matched pair of crops.

(A) Rice - Rabi- Basmati (B) Maize - Rabi - Vijay
(C) Rice - Kharif- Shakti (D)  Wheat - Rabi- Sonara
(E)  Question not attempted
R 3 T S & e g 3 A g
(A) ST - Tl - ey (B) AT - Toft - forr
(©) ¥NE - &l - yifw @) - wh -
(E) 313uia wy
IS Who classified blood in different groups?
(A) Karl Landsteiner (B)  Louis Pasteur
(C) Robert Koch (D) Edward Jenner
(E)  Question not attempted
ferert Te =Y Pt it & e
(&) e ST (B) gEwmeR
€) U=wEH=T (D) TeaE I
(E) 3rgaia wsr

16 ~ Which of the following antibody is found more in mother’s milk?
et 2 & st 3 gur o ey it (sfest sferar o s
(A) IgD ®) IgG
' IgM D) IgA
“(E)  Question not attempted / ITaTd ¥
17  Match List-I with List-II:

List-I List-IT
(Deficiency disease (name)) (Symptoms of the disease)
a Pellagra L. Memory loss i
b. Beri-Beri I.  Weakness in muscles and nerves
c Scurvy -~ 1L Appearance of dry scales on tongue and skin
- d. Riboflavinosis IV. Bleeding from gums
Gt -1 R gt -1 & gAford i ; ~
Tt -1 it -11
(arqutaT 3m) (1T < Teyom)
a. e L = e (el
b. et L OfRw ofk et i geferar
c. wHAl ! I S ST e o 3y Sreent o fad 3 -
d.  TgeETREEIEE IV, TG a @ ae
Choose the most appropriate answer from the options given below:
et fow mu Rt # & watfass s s gfie
(A) a-ILb-llLc-I,d-1V B) a-IV,b-Lc-II,d-1II
(C) a-Lb-ll,c-NI,d-1IV gp{ a-lLb-M,c-1v,d-1

(E)  Question not attempted / Mﬂﬁﬂﬁ EE

S17] ﬁ 4 [P.T.O.
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szaniSEd of

18 The fourth edition of the ‘Shanghai Cooperation Organization (SCO) Startup Forum’ was OF
March 2024 in

(A) New Delhi (B) Moscow
(C) Bishkek (D) Shanghai
(E)  Question not attempted ; mat
ST TeehT T (q Tt ) T WG 36 e G 19 71, 2024 F 3 s fl
211
Ay =% faeedt (B) iR
©) fors D) ¥
(B) orgafewa
19  Match List-I with List-1I
List-I (Country) List-II (Position of medals tally
in Paris Olympics 2024)
a China 1 g
b. Britain ii. 4t
c Netherlands iifi. 2™
d. USA iv. 1=
-1 =1 firer gei-11 3 ar i
-1 @) eft-11 (A aiteifoes 2024 °
Fger et oy Raf
a. d©N i dEx
b, B i, =T
c. T fi. @
d. JuC iv. TEel
Choose the most appropriate option from below:
e o & wad S faehed w1 = HIT:
(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-iv, c-ii, d-i
@y a-i, b-ii, c-iii, d-iv (D)  a-iv, b-iii, ¢-i, d-ii

(E) Question not attempted / STTARA I
20  Who became the second Indian to win a gold medal at the Asian Marathan Championship in 20247
(A) Srinu Bugatha (B) Man Singh
(C) GopiT (D) Kartik Kumar
(E) Question not attempted

Ryt Frrfirg 2024 7 Tl gaeh S ATel G TR i 52

(49 H I B) uH e
() T (D) ehifdsh FAR
(B) IFFuRa 4
21 Which country has emerged as the world’s second largest producer of Mobile phones?
(A) Germany (B) India
(C) United States (D) Vietnam

(E) Question not attempted

P T 31 T BT G T ST ISt I SeTaeh S SRt YT 7

(&5 S o (B) T
(C) TS TR ' (D) g
(E) Fgurad
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23

Choose the most appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn't safe.”

He warned us not to walk on ice as it wasn’t safe. Ve)
(B) He ordem;ﬁis not to walked on ice as it weren’t safe, <!
(©)  He told us {6 avoid walking on ice as it isn’t safe. L‘?
(D)  He said ﬂl:‘;{o walk on ice as its not safe. :‘;;'
(E)  Question a6t attempted ﬁ
Choose the most?aﬁpmpriarc option to fill in the blanks: P~
I her ___i::"a long time,  she was a child. -

yﬁne“ﬂ X, since (B) have known, for, since

(©)  was knowing, since, since (D) know, since, for
(E)  Question 6t attempted :;

Read the passage andaliswer the questions that follow b}:\bhoosing the appropriate answer : (Q. 24 to 28)

24

éit‘_ﬁéd on a perspective, we close off with one line of thought. Certain kinds of ideas occur to

us, but only thosgal%‘inds and no others. What if the crippled man who invnted the motorized cart had defined
his problem as, Zﬁ?w to occupy my time while lying in bed?” rather lhi%g“ﬂow to get out of bed and move
around the house?! e

Leonardo Da Vipej believed that to gain knowledge about the form of problems, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing tha}gs He would restructure his problem by looking at itfrom one perspective and move to
another perspectjgf; and still another. With each move, his understanding'would deepen and he would begin
to understand thgg@ssence of the problem. Da Vinci discovered that geqjqu_s often comes from finding a new
perspective that fig'one else has taken. WO

Albert Einstein Was once asked what the difference was between him and-the average person. He said that if
you asked the av%'f%ge person to find a needle in the haystack, the persofi"would stop when he or she found a
needle. He, on the other hand, would tear through the entire haystack 166king for all the possible needles.
With creative thinking, one generates as many alternative approaches as one can.

Most of us have been educated to think exclusively which means we thinkyn deficit by focusing our attention
on specific infoiﬁation and excluding all else. In these instances, exsliisive thinking leads us to neglect
potentially imp fant pieces of the puzzle. Exclusive thinking doesn’f@wrely inhibit irrelevant facts and
perceptions. It can;also smother the imagination. :~'§

Creative thinkingis inclusive thinking. You consider the least obvious a8 well as the most likely approaches,

and you look for-different ways to look at the problem. It is the willing[Leg.s to explore all approaches that is

Once we have s

important, evenlifter one has found a promising one. e

Identify statemeiits which are true with respect to the passage:
a. Our settled perspective towards a problem makes us focus,qq one line of thought only.
b. Lebfiardo Da Vinci always solved a problem in the first aw‘dppt .
c. AlBert Einstein would look for as many alternatives

as he gpyld to solve a problem.
d. Exbmsive thinking enhances creativity and imagination. i ;

Choose the mosléppmpr!a.re answer from the options gjven below: 0
(A) bandc only "(‘B{N aand ¢ only v
(©) canddoply (D) aandb canlyl:“'h
(E)  Question pdt attempted v

S17] ¥ . [ PT.O-
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29

Which of the following statements are not true with respect to the passage?

With creative thinking, one generates as many alternative approaches as one can.

b.  Exclusive thinking leads us to the important picces of the puzzle.

c. Inclusive thinking makes one look for different ways to look at the problem.

d.  Exclusive thinking makes us broaden our attention and look for potential alternatives-
e. Creativity and inclusive approach go hand in hand.

Choose the most appropriate answer from the options given below:
(A) banddonly (B) candeonly
( d and a only (D) aandeonly
(E)  Question not attempted
The features that define creative thinking are:
a. Multi dimensional approach
b. Willingness to explore
c. Biased approach
d. Not easily satisfied
Choose the most appropriate answer from the options given below:
(A) b,canddonly 457 a banddonly
(C) a,canddonly (D) a,bandconly
(E) Question not attempted
According to the passage, the most important thing with respect to solving a problem is:

(A) To change our education system (B) willingness to explore all alternativeg
(C) To be focused with one line of thought H’J}Z:m to look for facts

(E)  Question not attempted -

Choose the Antonym of the word SURPLUS from the options given:

(A) Inhibit (B) Biased

(C) Deficit /(,Bf Smother

(E) Question not attempted

The ancient name of Jaisalmer was

(A) Mand (B) Hadoti
(C) Shekhawati (D) Vagad
(E) Question not attempted

ST T I AT AT

) S (B) R
(€) @mErt (D) 4TS




30  Select the incorrect statement about subtropical mountain forests, (Choose the most appropriate option from
below:)

(A)  Subtropical Mountain forests are found only in Mount Abu region in Rajasthan
(B)  In these forests, greenery is available permanently,

(C) These, QI‘Cth can be found in Sirohi which is situated in RaJefSthan
(D) Thesqjqrestq are found only in Rajasthan and Uttar Prades

(E)  Question not attempted }l{ﬁ
IR st tefeltar ST 36 e 3 T e o s Ry (Pt 3 2 e 3 Foer o)

(A) Wﬁ%ﬁamméﬁaw%mméﬁﬁmmﬁﬁl
(B) ﬁaﬁﬁﬁﬁwﬁwﬁmw%

{-.
(©) ﬂ%’ﬁ?‘ﬁwﬁﬁﬁwaﬁ%a‘rﬁwﬁﬁw%l ™
9{ TR S T TSR T 30T ST 7 70 77y 8
(E) mﬁﬁﬁr’a 1y
31

Which of the Qllowmg is the biggest geographical region ( area wisé) of Rajasthan?
(A) Arava!__é;egmn (B) Westerﬁ;gesert plain region
(C) Eastermyplain region (D) Semi drﬂ;egion

(E)  Question not attempted

Freferiae e e o wadt st viiifors & (@we % En) iﬁ-—rm%‘?

(A) TTEAET bt wperel fert &
(C) T Aawt &= (D) 37y &
(E) <rgafa@sy 0
32  Whichof th"-ﬁ)llowmg Indian states/union territory has the highest:number of wildlife sancturies?
(A) West'}géngal (B) Andamhn}and Nicobar Islands

(©) Laksllgweep
(E) Quest‘mp not attempted
Frefeiar 86 s 5 o o 2 e s s s ot s

(A) gferm e ®f Waﬁ{ﬁﬁzﬂtﬁqm
(C) =T (D) fEawRw
(E) Sygaigyd

¥4
33 Which of thefollowing is shortcut command for print in MS Ofﬁce?;
i ¥ fife 3 fere fovr & 2w amdere i

(D) Himachal Pradesh
0

o )
(A)  Shift £P ( Ctrl + P
(€) A+ Cl+P (D) Alt+p

(E)  Question not attempted / 3TTaf wy w1

There is certain relationship between the two terms to the left of : ‘E;'id the same relationship exists bet***"
the two terms to its right. Then find which

34

e 5 b option would replace the question mark?
RO YR AT 20 4 (R “ﬁmﬁwaﬁwwft‘hwwm o for T
ﬁammaﬁqmﬁa@mm%? n &, 7 v S
GKLP : QUVZ :: AEFJ :? :;a_)
Xl (B) MOPTS
€) Mo D opt )
(E) Queqnon not attempted / Wﬂﬂﬁﬂ'gﬂ- m X 1

™
S17] :ﬁ 8 e
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Choose the box that is similar tojthe box formed from the given sheet of paper.

TS St & Tt vfie () § S ST @ = Hifg
Ty

1 N

{18
v

[~
u| ol

+H
¢
o) e

g

! ]
Choose the appropriate option given below:

et fog T s forere 1 4 A0

" ?j, a =

5

=)
© &[] o @ | #
(E) Question not attempted / %‘ﬁﬁ 99
FrfaRaa o= qevaTs TaTHR- ; ()E//
A ;ﬁ |
© = il D)
(E) Igaia
Freferfaa & ST wr T Ay
A) fEm :;1; \‘B’(nﬁa
© @ op ®) =
(E) Iai@ysd Lo
e L g A
Teft-1 -4 Fe-11
@) (fmam)
a. THIATETR :D L 6y G
b, WETEE 0 I Somis B
c. furees feremefi & forctel aare 81 I e fora
d. g8 g ad 59l :E; v, T
= fererdt # & warfirer I7ge I AT
&y a-1,b-1,c-1d-m ¥ @) a-1V,b-MlLc-1,d-1
() a-ILb-1V,c-1,d-1I (D) a-ILb-Lc-1d-1V
() STARATH

111 g ’

Vi

17164546 17164546 17164546 1716454¢

[ P'T-O
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40

41

42

issacini

Take the given Statements to be true, even if they seem to be at variance from commonly known facts, Then
decide which of tle given conclusion logically follows from the given statements:
Statements: No magazine is newspaper.
Some newspapers are books,
All' books are spoons.
Conclusions:
L. Some magazines are books.
II. Some newspapers are spoons.
(A)  Only conclusion II follows,
(B) Both conclusions I and I follows,
(C) Neither conclusion I nor conclusion II follows,
(D)  Only conclusion I follows,
(E)  Question not attempted

fameh—mmmuﬁwmﬁmm mmﬁaaﬁwﬁmﬁwaaﬂﬁﬁwwﬂmw
foreerelt =7 ol 5.

U L
1 ¥t of TR e G’-@
T TAER-G T §
Tt g T o5
L. T3 v geas
1. 33 ¥R - 0 s §)
Rl et fared 11 sreperor st (B) 3T e 1w 11 srerereor w24

a3

(©) w?ﬁﬁr@&mﬂwﬁﬁﬁm‘nwmﬁ (D) et foreped 1 v s
(E) smafaws
ﬁn%%aﬁﬁ*m-m’m@nmwm%-

(h)/awr—r-ama

(A) FUH-T=t

(C) a9z -=mft (D) &rft- wex

(E) sufays

Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since
(A) April 2021 (B) May 2021

(C)  June 2021 (D)  March 2021

(E) " Question not attempted

T T HETAAT AT G T 3 ot R <] g2

) i 2021 (B) w§202]
©) 32021 (D) W 202)
(E)  sqafagy :

BHADLA SOLAR PARK is located in: .
(A)  Jodhpur (B)  Udaipur
(C)  Bikaner (D) Jaipur
(E) " Question not attempted

WS Wi grd: arored & 10 T o fegq 89

.

(B)
oF o @

(E)  S7yafe s

P.T.O.
S171 i N .
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43  Ascited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the plannl &

and strategy of wars, lived in was called as = (Choose the most appropriate optionfrom below:)

(A) Sainya Durg \0 (B)  Parikh Durg ft
(C)  Paaridh Durg m (D) Sahay Durg i)
(E)  Question not mtcmpﬁ:d Ir[’ i .
ﬁmﬁ:mm%wmﬁﬁs%ﬁaﬁ%mﬁmwﬁmaﬁ@ﬁmaﬂgmﬁﬁmﬂwm
T & ) e S - (R A w3 forehed ) I
«f g ™ @) whazgt
(€) urmat e (D) wWemg

l (E) rgafa W A

44  People of which Civilizat;lda buried their dead with jewellery and ornaments? 'r;

(A) Kalibangan < (B) Ahad £
(C) Bagor g (D) Gilund f
(E) Question not attempted ""1'

o T 3 ST ST AR AT 3 W GHAT A7

iR v ) ficgs

(E) SAdiE wd Vo)
45  Karpur Chand Kulish was‘ﬁ’?e founder of which newspaper? ey
(A) PunjabKesari e (B) Rajasthan Kesari 'if‘i
(C) Rajasthan Patrika et (D) Dainik Jagran ;‘;Z;
(E) Question not attempféd e
i i e Fre wTTC SR A7 fa
(a) wmym (B) USTEM Fal 1l
©) e @y e S
(E) i@ 94 O
46  The spread of which revolution enabled India to achieve self sufficiency in food #riins?
(A) Yellow Revolutiong (B) Blue Revolution lﬂ
(C) White Revolution ey (D) Green Revolution ljj
(E) , Question not attempted 5
mﬁﬁ%mﬁm@mﬂﬁmqﬁw&mmwﬁﬁmgm? ;:_!
(A) et whfd . _ ) el wifa ud
(C) w|IR Fifd v=4 @y efawmifa
() wAAt@and 0
47  Planning Commission waﬁyl'up under the Chairmanship of- b
(A) President Te) (B)  Vice President Ep
(C) Chief Minister ! (D) Prime Minister Gg
(E) Question not attempld e
airorar v & e f oy st i g o [
(A) Trzafd : my  3wusaf o
© e by Tl |

() gt
1
SI7) ﬁ [ P‘T-O,
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48  To protect goods produced in India from imports, Government made use of-
(A) Tariffs (B)  Both Quotas and Tariffs
(C)  Neither Quotas nor Tariffs (D)  Quotas
(E)  Question not attempted

Wﬁmﬁaaﬁaﬂaﬁmﬁz}aﬂﬁr%ﬁmﬁwﬁﬁmmmm

(A;/ljﬂ D) e st g At
O TR HRTTE o (D) Fer
(B) sai@awy
49 Thewa Art is associated with which of the following areas of Rajasthan?
(A)  Jaipur (B)  Pratapgarh
(©)  Jhalawar (D) Churu
(E)  Question not attempted
TSTEIT 3 ST et ey 3 @ forr 8y 2wy 29
(&)  SEgR # s
©) wERE D) T&
(B) SIguia@wy
50  “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Madhya Pradesh and Gujarat (B) Rajasthan and Gujarat
(©) Madhya Pradesh and Punjab (D) Rajasthan and Madhya Pradesh

(E)  Question not attempted

“HTEY SISt R qiEismT Freafified § & s ToeT Tt T Hh SUHA B2

(A) HE YR SR e TSTET 3R e
©) WH%ET@TW+ &) Waﬂtmﬁﬂ\/
(E) rgaiayd :

51  Given below are two statements;
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .

Statement (II): This soil contains enough quantity of Nitrogen but lacks in Potash and Iron.
In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are false.

(B) Statement (I) is true but Statement (II) is false.

(C) Statement (I) is false but Statement (II) is true.

(D) Both Statement (I) and Statement (II) are true.

(E)  Question not attempted

o g R MU E :

wHAT- ; mwm%ﬁmmmﬁqﬁm%

HAT - 11 :wﬁﬁﬁmmwﬁm%éﬁwmaﬂtmmaﬁmma
mﬁ?ﬁm%mﬁﬁﬂ%@ﬂﬁwﬁﬁﬁmaamm?ﬁ:

M g 1 30 e 11 1 e &) (B) Wﬁmﬁéﬁﬁmum%
(C) =y 1 7Ted @ formg & 11wt @) (D) R 1 30 et 11 A e 8

(E) aﬂﬂfl?fg?f
S17] ﬁ 12 [P.T.O-
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54

55

“Namcha Barwa Peak” is located in which of the following regions of the Himalayas?

(A) The Arunachal Himalayas (B) The Himachal and Uttarakhand Himalayas
(©)  Kashmir Himalayas (D) The Darjeeling and Sikkim Himalayas

(E) Question not attempted

T aaT Rrae fearem F frafafaa 1 @ e 87 8§ safem 22

(A) IrurTEe feAe @y fewrae s saEs feared
(C) eI femTer | (D) arfifeT afi fafie femmera
(B) Fgaiaws

g : - ) : ost
‘Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choos€ the m

appropriate option from below:)

(A) Darjiling and Sikkim Himalayas

(B) Arunachal Himalayas

(C) Kashmir / Ladakh or Northwestern Himalayas
(D) Himachal and Uttarakhand Himalayas

(E) Question not attempted

e e e frerr i Freforfiad # & fre swde  urd st & (Frer 8 & wed Iws fored )

>y TifstferT 3 Rty e (B) 3TevIId fewrer™
(C) e/ =g a1 I ufdd e (D) femmeer it sTEs fenre™
(B) SAgai@ud

Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from

below:) .

(A) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights.
(B) To visit jails and study the living condition of inmates.

(C) To spread human rights literacy among the people.

(D) To undertake and promote research in the field of Human Rights.

(E) Question not attempted : "

e NI TN T AT ) A &7 (Pt € ged g e )
(S e 3 i i e Se 3 S 2 e e

(B) @a‘?maﬂnmaﬁr%ﬁﬁaﬁsﬁmﬁwﬁwmm&

(C) it 3 ofter AT HIERAT 1 STar

(D) mmﬁm%aaﬁagﬁmmaﬂtm%m

(B) e

By which Indian Constitutional Amendment the ‘Gram Sabha’ has been given a Constitutibnal Staty
(ay 73 @ 7 ¥
© 75 (D) 72M

(E) Question not attempted

fora 3 e E T T AT gt faaT T 82
&5 73at B) 74at

© 7sat (D) 723

13
S17]
ﬁ ! [P‘T.()
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56  Which of th‘é‘*following words has been added to the Preamble by the 42" Constitutional Amendment?
(A) Equﬁfiy (B)  Integrity ’5
© Fr‘lté‘h‘llty (D)  Liberty 1 ff'
(B) Queshpn not attempted =}
ﬁn%f@aﬂ%aﬂqmm@%aﬁmuﬁmmwﬁmm??
(A) ) s
(©) s 1 (D) Edaar [
(BE) gaf@ws v
57 Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from belowr)y W
(A) Notﬁyim minimum wages to workers (B)  Banning thetuse of loudspeaker after 9 pm
(©)  Delivering a speech (D) Banning of tobacco products
(E) Qu;§u n not attempted A i”
I o H | 3 |1 T SRR s seetT 82 (ﬁnﬁﬁ 39T fasheT 74:)
TR T HSE S ST 7 T (B) U9 3 ara eraewdieR T HferEY @
(C)  TSOT3T (D) ww=IE m@_muﬁaﬂm
() <igafig wx : '
58  The Preamble of the Indian Constitution starts with the phrase: (Fs )
(A) Withfthe name of God..... (B) India a Sovereign, socialist.....
(C) To Secure all citizen of India..... (D) “We the people of India™...
Les w3
(E) Question not attempted
Waﬁfwﬂm%ﬂwﬁmﬁ% ©
v .
(A) U9 rjrq%mw (B) T U THCHU, FHISETY.....
(C) T 5 oft TR Y ... @ e EHFT....
(E) angfmsra
59 In 1983, which of the following Commission/Committee was appgégted by the Central Government to
examine ax;_;_lfeview the Centre-State relations in all spheres and recoramend appropriate changes?
(A) Sarkatia Commission (B) RajamannbrCommittee
) Ashbé?Mehta Commission (D) Hanumantifiya Commission
(E)  Quektibn not attempted \0
1983 %, mﬁ‘aﬁﬁa@wwﬁﬁmaﬂtmwaﬁwﬁmqﬁaﬁﬁﬁm&mW%mmm
m & 4 fopm i/t 1 Frafes 1 oty
) aw[fm AT (B) Wﬂﬂﬁﬁ
(C) g, prean ST (D) EHaAT 3‘1"{31
(E)  efrg 94 »
60  Chairman ofiRajasthan Public Service Commission is appointed by \ﬂf,ch one of the following?
(A)  Govefhor (B)  Chief Justigg of High Court
(C)  Chairmhan UPSC (D)  Chief Mitigter
(E) Quektion not attempted |

TSTEIT Wiy a1 i sveqe ) Fragfer Frmfefiaa 3 @ fome & g @remd 22

R (B) I = 3 v
(©)  remgr g oy wa dt (D) v
®) ofawa

S17] ﬁ | 14

[ P.T.O.
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61

62

63

65

Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?
(Choose the most appropriate option from below:)

()] A (B) Hadot

(©)  Bhili (D) Wagadi
(E)  Question not attempted

T 3 e, St SR TS &6 <6 sieft i w22

dﬁnﬁ@rwﬁﬁqﬂ?ﬁﬁm?ﬁ ) CB/
(A) et [
©) fch (D) arTet
(B) oFara s
In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Songs (B) Folk Dances
(C) Playing Instruments (D) Folk Dramas
(E) Question not attempted
TR, Mg 3R et Tswam & &

SIEXIGE - (B) dWRIA
(C) dwEA (D) I ATeH
(E) ¥aita wa
Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Gogaji (B) Pabuji '
(C) Devnarayan ji (D) Ramdeviji

(E) Question not attempted

ﬁﬁmﬁwéﬁquﬁ@%wﬁmméﬁm?ﬁmﬁ@aﬁﬁv

e St (B) ugsh
(C) TEAREv Sit (D) THeT St
(B) Igaiayd
Where is marble dumping yard in Rajasthan?
(A) . Bundi ; : (B) Kumbhalgarh
(C) Bikaner (D) Kishangarh
(E) Question not attempted
TrEuT § AT Sftd are el 82
(A) &t ' (B) PTG
(€) diwT <D Ty
(E) 3¥afa g4
Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:
(A) 11 October 2022 (B) 15 November 2023
(C) 19 December 2023 (D) 12 December 2021

(E) Question not attempted

Wﬁg@ﬁﬁmﬁﬁmmmmﬁwmﬁﬁmw@

(A) 11 7FER 2022 15 TEeT 2023
(C) 19 feg=w 2023 aa( 12 feew 2021
(E) a9

SI17) s 15
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66 ;gﬁ,}ﬁﬂ“ﬁﬂmﬁmﬁ%@aﬁﬁmm%— / Pord
), et ) it & Sfta foramr
(©)y -3t gy s (D) g™
(BYy  ITafa vy W
67 mﬁﬁwﬁaﬁ%@ﬁmﬁ%mmé 4
&) vady (B) ffam
;,(?): TRtea (D) @ari
(E)' 17afa wy

68 A ray of light is

incident on a plane mj i inci
P I rror normal to its surface. The angle of incidence and the angle of

©r

(A 1 0 0 respecti \

’ (5] i ]
( ;’ 90 . p . Vi ]y (B) O_T,f 900 respectivc]y
, 0 respectively 4'90° i
Q) o : (D) 90%'90 respectively
(B Questlon not atternpted f@

i
(q;'wmiw;r?mﬁw%mmma:mm@ﬁ@ﬁmaaanmaawhmﬁqasmg‘fﬁ.
Rwam m
(E) Igafiawsr hEh
69  Two identical prisms P, and P, are placed as shown in the ﬁgﬁm A narrow beam of white light is incident

on klass pl:lsm P, as shown in the figure. The emergent beanﬁfs)m the prism P, falls on the second prism P,.
TB resulting emergent beam from prism P, on the screen contains:

P, {s)
i |
3 i

A

(QQ) Spectrum of light as VIBGYOR form bottom to top oéﬁge screen
(B): Beam of white light on the screen Ty

(@) No light is obtained on the screen &
(D)' Spectrum of light as VIBGYOR form top to bottom on'the screen
v~

(Ef} Question not attempted
Srsiday firew Py SR P, 1 30 ate T ST & Srar i 3 Rt e 31 e st v v a6 i i &
Fd%“‘qp, gz 3rafaa forar strar & S o fo & qurfar mar ) ﬁmﬁi, ﬁﬁﬁﬁm@a&mpzmaﬁ%ﬁﬁm

ﬁ%ﬁwﬁmﬁqﬁm%ﬂ%mﬁﬁm%p O
P, ¥

L

g <l

A_ 3 ©
O P A -

r“u
(Q. W@ g A A T, TEE F T VIBGYOR &9 7 ]
(BY W qT A ST T feorgs
(©) qﬁq’(ﬂ-ﬁﬁmqﬁ@m
D) TR SR A A, T H @ VIBGYOR & w9 %

(E) aqaaf(aq?r
S17] @ 16 ~ [P.T.O.
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72

73

74

—L' from

70  The angles of elevationigfithe top of a tower from two points A and B at dl-;t;}nce pandq respectlvely,

the base of tower and inthie same straight line with it are complimentary. The hug,ht of the tower is:

T WA & Wmﬁﬁﬁ%@ﬁ A 3R B, ST s ﬂ?m%;anmﬁm%ﬁ?ﬁwqp aq Eﬂtﬂ'% ﬁ’ﬁqﬁaﬁﬁ&
& I IV QL B HAR Fh S & O
1
w re l” O ® ) %,
©or pa v | D) P4
(E) Question not attempted / Wﬁﬁ‘d’ o
If the lengths of diagonals of two squares are in the ratio 4:7, then the ratio of their areas is: ssibf, X _
uﬁa‘rﬁ%ﬁwﬁ%ﬁmﬁwmﬂ‘eﬁ LR e R e L i L.
(A 1649 % ?' (B) -343 ifj 1K>\\ 33
©) 2l W 4:7 a‘gz . T
(E)  Question not attempted / 3TTTIT T : - : )% “q‘
Select the incorrectly niatched pair of biosphere reserve and its region. £ bt
(A) Thar Desert - Rajasthan (B) Kanha - Madhya Pradesh, Uttar Pradesh
(C) Manas - Assam S . (D) Nilgiri - Karnataka, Kerala
(E) Question not atternpted : i
Tﬁa&wmﬁfﬁa%aﬁa?ﬁ%wwﬁ! B/ =
| ®f wremE TR, 3?563%37

u;;_ . s T(D) Hfrafid-aatess, é\:@
(E) maﬁ?rsra =i : o
Select the incorrect statgment about the genetlc code : P
(A) 61 codons code B lamino acids; o)
(B) UUU code for phenylalanine. '
(C) AUG only acts a;é)@nator codon and has no other function. O
(D) The codon is trlpletf ! Z{f;
(E) Question not attempted <
e e (e F1E) o A # e e g WO
(A) 61 e Rl steeht 3 ferg ecifia 2 & !
(B) UUU ﬁaﬁawﬁ‘-r ferT azé@?m%l , b~
(©)  AUG ¥ aﬁ@w%mﬁmm%mmﬁémwﬁ 3t
(D) e e GrRFad &
(E) wrguf@gs < "yt
Which of the followm;,mrobenous base is not a component of DNA? g
(A) Cytosine (B) Adenine =t
(C) Guanine :3 (D) Uracil 3
(E)  Question not attempted ~
FrefRfian 3 & o a1 A (4T < e Qe e T & v
(A) wTERdE . - (B) LSiEic
©) - ' @ @t
(E) Irgafa Yy

17
[Ppqg



75  What is “Fly in” in MS power point?

(A) Page design (B)  Animation effect
(C) System command (D) Colour scheme
(E) Question not attempted
T T TaR Wi & et (Fly) 39 0 27
@) ¥ s (‘rr/ NEEH R
(€) Tr=ewwmig (D) e Ehm
(E) oTgafa wsy
76  Which of the following statements is NOT true about floppy disk?
(A)

Data can only be read or write when write protect notch is closed or covered.
(B)  Floppy disks are made up of Mylar Plastic.

(C) Mylar Plastic surface is coated with iron oxide (magnetic substance).

(D). On!y 1.44 MB can be stored in some versions.

(E)  Question not attempted

) %@H%aﬁtﬁﬁmﬁﬁiﬁaﬁﬁﬁ?mmmﬁ%
J\—;?)ﬁ éaﬁ%aa&ﬁwm%mmm%mmuﬁmfmdammgmﬁl
S B i e e o & e A B

(€§ HIES i ht e ol sifeeree (e wam) & S a2
TS TR ¥ St 1.44 wweht € v o s g 2|

(E) Ifuiawy
77  Ethanoic acid reacts with carbonates to form -
(A) Salt, carbon dioxide and water only (B)  Salt, ethane and water only
(C) salt and water only (D)  Salt,nitrogen dioxide and water only

(E)  Question not attempted
TR IR TS TST & |TY AT ek ST 2 -
(A) hac TGV, FTET SEATTAES ST (B) haet &g, W i wer

(C) et oawr SR STer (B)" e T, TR SRR S S
(E) 3rgaftagy
78  The property of carbon which is responsible for the formation of long chains is called:
(A) Sublimation (B) Carbonation
(C) Hydrogenation (D) Catenation

(E) Question not attempted
FTel o7 @ 7O St @t A s ok forg Sl R, wear @
(A) Sedurad (FeeaeE) (B) HERRA
(©)  FrEgISHTT Oy FWH (siwem)
(B) gafta a4
79 Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 milliampere current. The time
required to liberate 0.02 mol of hydrogen gas at the cathode is :
T Teftg NaCl forerar a1 forgga-a1qae 20 firedt qffqer an warfea @ frar mm Seie w 35 0.02
ﬁaaﬁgmmﬁ%%qaﬁw ATATIF GG © - RTES IS
(A) 28.95x10%s (B) 193 x 10%s
(©) 38.6x10%s (D)  9.65 x 10%s
(E)  Question not attempted / 3Tafta W
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g0 U G I ohi FRr 5| aTeRIiaT o foTq ueh wreg -
i.
(A)  wIHd :‘ (B) g
© va ® 4
(E) oTgeRa s

81 Wﬁﬂﬁaﬂ#‘ﬂ?ﬁm? S
=g fe (B) =eelt

© s (D) Forewor
(E) THA ¥4
g1 TI5G T 3T T SN SIS T AT L -

uF

(A) S - AET il | ®) w-w 7
Q7 aTgEET - FR (D) 37T - el =¥
(E) aRaEs *"3 of.
g3  Trofe WIR “Valid® t=ﬁr I 3T Tt oref 2- o
() T 4 (B) 3
© q oy faftmre &
E) aRa e ifi 0
84 Choose the most approgrm{e English translation of the given sentence v,i
% 3 fararar it e e 3
(A) The book was tépm by Rudra why? (B) Why tear the book, R\alii;a'?
Why did Rudriﬁear the book? (D) Why the book was tort T)y Rudra?
(E) Question not a;tejnpted :"j
85 Choose the most appropriate option to fill in the blanks: ;_;g
Do you know £ in London? Yes, my friend Arun lives near I;ondon. But in case he ig
out of town, I will haifué to go. o)
yfj/ anyone, nowhei'g nothing ~ (B) anybody, somewhere,f"’iﬁwhere
(C) nobody, anywﬁé?e, something (D) someone, X, somewheﬁgg
(E)  Question not af 'é‘mpted ; s
86  Choose the most appgq}rfate option to complete the sentence. ;::1: _
In an official letter the ‘subject” is . y
(A) stretched and rielévar-:t (.B')/brief, clear and relevmft;i
@ wspicand pre{i% (D) aslongas possible ¢
(E)  Question not atfgmpted R‘T',i{
5 Choose the most appropriate word to complete the given sentence: @
I'was advised not to Iio fer _thestreets after sunset. Lo
ﬁf]\ for v eaj‘)/wuh H
K to about i:{

()  Question not attempted *
19

[ P'T~0 ,

-
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88

89

90

91

92

93

Match Lj st-I with List-II

List-1 List-IT

Munich is a large city the south of Germany. I at

Were there many people

a.

b. the concert on Friday? 1II. during

¢ We shouldn’t speak eating, ML i

d We didn’t speak the meal. IV. while

Choose the miosy appropriate answer from the options given below:
(A a-Ib-1v,c.qm, 4.1 (B) a-Lb-I,c-MI,d-1V

(©) a-IV,b-1l,c-11,d- NI} AL b~ Lotlvy d = ILY v
(E)  Question not attempted

Choose the word closest in meaning to the underlined word:
People thronged to pay
(A) obedience

(C) alienation

homage to the departed leader.
(‘B)/tribute
(D)  humility
(E)  Question not attempted
Choose the word which is similar in meaning to RELINQUISH

(A) offensive (B) persist
abandon (D) residue
(E)  Question not attempted

When the minute hand covers a distance of 1 hr 25 min, then what is the angular distance covered by it?
= e b gg 1 ver 25 e gt aw w3, 0 S T o1 A e <ot gt @iy
510° (B) 480°
(C) 450° D) 375°
(E)  Question not attempted / ¥TAfE T

If ‘MEDICAL’ is written as ‘DEMILAC’ in a certain code language, then how is ‘COMPILE’ written in th;

code?

4% ‘MEDICAL’ %1 T %18 M “DEMILAC’ forar ST, ‘COMPILE’ %I 38 g % 33 forar smam
(A) MOCQELI (B) OMCPILE -
&~ MOCPELI (D) MOCPELO

(E)  Question not attempted / 3R F57

1 1 1
] = —_— + +
Hhesenes A= L e s

....... , then sum of its infinite terms is:

1 ] 1 3
e + + vreey T SO0 5 ST G oy AT R
zﬂ%:’}f"ﬁS"]J’1+2+]+2+3 142+3+4 ¥

7 2

(C) 2 l (D)

(E)  Question not attempted / 3TFafa g1 Mo C PE 8

R|l= P|w

S17] s 20 [PT.O.
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94

95

96

97

98

Voo 62 )%5)'0
DI

io of 5:6. Fin

Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers are in pll

the ratio of numbers, if 2 is subtracted from each number. ekl il ?

2 Gt 21:26 3 I H ¢ A T F SEﬁgTGrrq,;ﬁ-qgﬁ@raﬁaﬁaﬁq'm 5:6‘&5"37%'

(A) 14 (B) 4:5 A 13
O T8:25 _ D) 23

(E) Question not attempted / mﬂﬁﬁﬂ'ﬁﬂ ) nt 2

A shopkeeper bought 6 articles for ¥ 5 and sold them at 4 articles for T 6. Then what is his gainl perC;Trgr?
%WﬁGa@?Sﬁ@ﬂﬁaﬂﬁ?ﬁﬁ4aﬁaﬁ% ﬁmlmaﬁﬁf{,mwgﬁm -
(A) 65% 72% ; % _;0' <
© 80% D) 29% “C 2
(E)  Question not attempted / IFafd wx 0 -3 ¥
The point A (13, 18), B (-5, 10), C (-13, -8) and D (5, 0) taken in that order are the verticesofa - ﬁ_;&\w
(A) Trapezium (B) Square o)
(C) Rhombus . (D) Rectangle

(E)  Question not attempted d

g A (13, 18), B (-5, 10), C (-13, -8) W& D (5, 0) A St A F Ay WS & fief €

(A)  woEs ®) @t z C
sef wrgds (D) ¥ |

(E) rgaita s ' C \1

Total surface area of cube is numerically equal to the volume of the cube, then find the diagonal of cube.

(A) 63 units (B) /3 units 3 Q—"’)\O
(©) 23 units . (D) 6 units

(E)  Question not attempted
WWW@WWWWWWW*W%W%,H*WWWW%I

(A) 63 ThTE ®) 3=E

& 25 wE ® 6w

(E) srgafawy

Four players A, B, C and D are standing in a field in such a way that B is t, East of A i

Aand D is to North of A. D is standing in which direction of B? >~ 1510 the SOuth of
(A)  North (B) North-West

(©)  South (D). West

(E) " Question not attempted

SReE A, B, Cwd D e A AT AEA T EFAT W B, Aoy o Sk
¥1B % for faan # D w7 Aa’aﬁwh
A) Iw (B) Sw-ufm Ty

LY

©)  afur oy dfm @
®)  ormfgws L
Y 21 ?—7&

[ P~T.Q
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| B

99  Find the number of triangles in the given figures:

) 1§ arrepfr i Frsit 1 T AT x
4
et '
Ly

@A) 15 . B) 17

C) 14 ‘ (D) 13 "

(E)  Question not \g‘gcmptcd / IraE uu

100  Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan?
(A)  Jaipur O _ (B) Sikar !
(©) Churu et (D) Bhilwara '
(E) Question not E‘tliempted
g FHelTehit off et SRl TSR o forer v & wwsifire €2

e
o

(A) AT w0 (B) Hi pe
© w o @f e
(E) Afaf@ws [ _
101 Who can remove the Governor of a State? (Choose the most appropriate oﬁﬁan from below:)
(A) Chief Minister (B) President n\;
(C) Prime Ministeip (D) * Chief Justice ofléléﬁia
(E) Question not ﬁtt}cmpted i
TST 6 TSAUTA i higreet wepar 82 (Frafafaa 3 & gt 3w fasrea ) o
(a) el O @y g i~
(C) wumEAt (D) RA % T =ATeiar
(€) omafayy
102 On 2™ October 195‘-I who inaugurated the modern three tier system 01‘.Panchayat1 Raj in the Nagour
(Rajasthan). ¥
(A) Mahatma Gar‘iﬁ]u (B) Jawahar Lal Neﬁf_;{
(C) Sarojini Naldﬁ; (D) Lal Bahadur Shﬁ'ﬁri
(E)  Question not attempted
e 2 31azay, 1959 AR (Uered ™) # et T mwmwmmw
(A) TETETT <8 SETE A YE ¢
(€) wafsHt g ™ (D) TS STETEL AT
(E) smafaug o o
103 The idea of “Welfare State’ in the Indian Constitution is enshrined in its t‘:?
(A)  Fundamental Rights (B) Preamble ¢

(C) Seventh Schcﬂqle

o P
(D) Directive Principles of State Policy
(E) Question not affempted

TRt wfeem H FHETEG e 5 few # fafga & {:
(A)  Tifees e (B) wETET 4
© s Py T i v R
(B) Igaf@ysd

SUT s, 22 [ P.T.O.
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104

105

106

167

log

log

817] ) Question not attempted

what is Himalayan yew (Taxus Wallichiana)?

(A) Atype of soil which is found in Himalayan region
B) A folk song of Himachal Pradesh

© A Medicinal tree

() Atype of Tribe

(E) Question not attempted

fomrer T (3FEE FTCITITAT) FT 22

ay” it a0 O b St fererr & 8 wr st (B)
(© Ui g (D)
(B) A A

The river of Rajasthan that drains into Arabian Sea s,
(A) Banas (B)
(C) Kantali (D)
(E)  Question not attempted

ST 1 8 T4 ST o | o et & -

(A) & B)
(C) Hidelt | i1
(E) IaRayH

Which one of the following rivers flows in a rift-valley?
(A) The Narmada (B)
(C) The Gandak D)
(E) 'Question not attempted

et & @ @i o 7 fndrardt # aedt 22

(A) e ®)

©) Tiew g

() st vg

Choose the most appropn'a.re option to fill in the blank:
Aditi has been working here
(A) " six months ago (B)

M for six months R)‘

(€) " Question not attempted

Rewreret ST T U A
ST T Ueh YehlT

Chambal
Luni

ElEK)
ot

e,

The Ravi
The Yamuna

Tt
AT

]

six months before
since six months

Choose the most appropriate passive form of the word: *declare” to fill in the blgy, .

The old houses in town
(A) are declaring
©  declare *
(E) Question not attempted

00se the most appropriate option 10 fill in the blanks:

~—___postman’s little boy said that he'd rather be

because dentists don't get called Du_‘:;“?——‘ night, \

Thes a, a, XX

D
i The, the a, x, x @)

23

unsafe by the authorities,

have been declareq
declared

dentist thap

A} “'lt‘.', the. ﬂ,‘ X
X, 4, a, a, the
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110

111

B |
46 48%& +1,4x+3, 105 {9

The numbers 24, 34, 40 Vg , 4x 13, 105,110, 114, 123 are written in ascending order and the med
is 77. The value of 18t 1€y A

ol 24, 34, 46, 48,%2% + 1,4x+3, 105, 110, 1 14, 123 =Y sIgq T M ...ﬂﬁ

qﬁmm??% Gty A R0 P -ﬂ? fere e & afte g
' v ,H’( P
(A) 22 [ 25 » -
©) 30 v D) 20 v

(E) Question not attempted / 3T 5=

There is 50% increase in an amount of money in 5 years, at simple interest. What will be the compot
interest on < 15,000 after 3 %gars at the same rate? v

el 72T Y ST IR SR T ST &, T 363 5 31t 3 50%% o 1fi €t 1 380t &0 @ 2 15,000 77 A

eH

3 T AT ST T I <
(&) 4800 © (B) 4,900 ot

3 4,965 ™ D) T 4,960 My
(E) Question not attempg::(% / ailfﬁ'ﬁ'd Tq i {

112 To boost economy and getting State Government approvals Rajasthan Micro, Small and Medium Enterpri
(Facilitation of Establishmq&t}and Enforcement Amendment Act, 2023) has increased the period of exempti
to MSME from: gt <
(A) 2yearsto4years Lf} (B) 4 years to 5 years "‘ﬁ;

(C) 3 yearsto 5 years :ﬁi" (D) 3 years to 4 years ;“

(E) Question not attemptfga goef

Sl R T 3 e T T g 8 R T e, 1 St I (R AT
etier G sfufim, 2023)F T @ T § (MSME) F1 g2 A aft wer dt -

(A) 28498 (B) 4¥s5Td

© 3@s5ad - 34T o

(E) orgaiays :g SD)/ =

113 The Rajasthan Panchayti R%:}Act (RPRA) came into force from: ]é‘;g
(A) April 1992 (B) January 1992 W
(C)  April 1994 :3 (D) January 1994 v
(E)  Question not attempted =
TSI SRt U Sfyfory (erredtaTm) o AT §ATI r
(A) &1 1992 (B) SWadl 1992 T
W st 1994 O (D) SHal 1994 gt
(E) srufauy ! L6y

114 z:l;agratcd circuits (ICs) arezelated to which generation of computers? Zg

Second Generatjon £ (B) Third Generation |
(C)  Fourth Generatjo, ¥4 (D) First Generation ;:
(‘F.) Question not attem !\ |
T A (1Cs) frg iy ’ i
@) feroian SRYT 3 Pt § welferd 87
A
o e o bl (B T
q D) WUH SHRM
(E)  srgafags ( [
17 s :
' g 24 oo 157 ﬁf ; L
- lo [t



tion?
ing i i corpor?
15 which of the following is the transistor’s capacity of the first microprocessor P"“duccc{ by Tt
ﬁﬂﬁmﬁaﬁqms'é“ a2 i e oy Zifsreet armar 27
(A) 1800 ) 2300
) 2700 (D) 1700

(E) Question lgdt‘at:cmpted !Wﬂﬁ‘dm{ ‘:5‘
o
Which of the follow}unb ; command of excel will take you to the next Wd(ﬁbogk window?

116
@awﬁnﬁ%ﬁqmmmwmﬁﬁmém kﬁ
(A) Crrl+Page Jp (B) Ctrl+Sh1ft+"P6!Tab
(©) Cul+F6 FTab (DY F6/ Shift + ‘_tiSi

(E) Question dot attempted / 3T war

. ; -« gth he right
117 Some girls are st?ndlng in a queue. If Kavita who is 11th from the left end-and Babita who is 9'P from t

of o, . : in the
end interchange their positions, Kavita becomes 15% from the left efid. How many girls are there

queue? ii"} . Q |
was%mwwfm"ﬁm”rél et T S 11%mw%aﬂtaﬁmﬁ%?f@ﬂﬁ o} o T 21 9T I T

e Sge fear T ar aﬁmaﬁ@t@ns&wmmm wﬁ"ﬁm%ﬁaﬁm#
o 23 i:{
© 27 “

(E) Question ngtattempted / Frgafa w1 O

- =
118 Some students aré §tanding in a row facing in same direction. If the pogition of John from left is 32 and from
right is 15, then hgv many students are there in the row? =
mﬁmﬁwvﬁaﬁ@ﬁﬁmﬁu@m@%ﬁ wl%arma?rwnamgf)gﬁ 3291  FuT Rl S Y ISGT%ﬁr

(A) 47 4 B 46 “ Cl

(D) 45
(€) 48 0 l g_
(E)  Question n(’;? attempted / Cﬂa’ﬂﬂﬂ A L 2y

19 Pis the son of RSIB and Q are sisters; Z is the mother of Q and M is ‘Q son of Z. Which of the foll
OWin

statement is true?™' \Q

(A)  Mis the matgrnal uncle of P. (B) RandM arﬁt:s."sters.

(©)  Qis the grandmother of P. (D) Mand P argcpusins,

(E) " Question not attempted

PR g, R g e B 2, Qo 8 MM, 21 R gy s
M, P =1 TR ®) R‘{E"M"ﬁ %

C (D) Maip ki e
© Q,Pﬁzﬁmﬁl "’%\nﬁ. —& -y
S1y ® 3‘1?&39%3 ™ 5
| ﬁ 25 > P
i v
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rrect statement in context of Bhilg G

Raj
o Select the IHC; them in Hinduism he started th Bha Jasthan 4y,
kee
(A)

The Bri tish

5 d Goving Gury,

at
ers felt that the objective of this iocf::()verment
5 I
(B) tion of @ Bhil State. . clorm Movemeny Uun by Goy;
format™" thly meetings of Sa nd Gun,
rganised MONLTY . P Sabhy o the M £
{:-t;cial and moral upliftment of the Bhils of s nagarh Hjjjs,
= gc:cstion not atte‘mpted ot o
(E) il AT TT% o e o WWWW%
A) ﬁ%ﬁﬁﬁm@é%mmmg@m,
AL TS T8 TR T 2y :
e uEl RREY AT e
/(g( ﬁwm@ﬁﬁ@wﬁmﬁmﬁwwﬁﬁﬁmwmwmm%a
(D) TEETE mm#%ﬁ AT f rorry oy
(E) i A .
121 Which of the following storage device can store m
(A) Floppy disk (B)  Compact disk
(C) Optical disk (D)  Hard disk
(E)  Question not attempted

ﬁw%ﬁaaﬁﬁﬁqm%%%%ﬁ?@@tmm%?

(C) He

Ovind Gy, Cstablished ¢he Samp g

axXimum amount of daty?

(A), ward fewn (B) e fows
Jiftesa fomn D) wEfem
(E) Irgafa vy -

122 Which of the following is used for spell checking in excel?
ﬁaﬁm%mﬁmﬁﬁﬁﬁ@mw R smar 22
F5

(B) Fé6
©) F7

. (D) F4
(€)  Question not attempted / T oy

123 Which of the following function displays current system date in spreadsheet?

i R 2 5 S e "

) Today () (B) Today { }
©)  Today @ (D) Today[ ]
B Question n
124 "y Otattempted / 1wl war ,
ich of the following is NOT a character formatting in word processing tool?
Alignmem (B) Underline
© Effectg (D) Font colour
Question oy attempted
(A) ;&@Wﬁ Al T 9 NaRm e w8 |
© -(g;/q;mm
. (]? mgﬂ is called-
¢ Monetary o _ :on activities is
(&) Subsidy iance given by Government for pr]‘;(;uctguota
(E)

P
. p) GD
QUeStmn no (

Lattempy
BRITQ:[ % pted

e ST &
Woedy TR gy oy e wﬁiﬂﬁ“‘“ﬁ,
EE) e (B) Sdd ' Pt
) v D g
Sl'?] w e [

26



126 Heating the sulphide ores in the presence of excess of air is called:

(A) Roasting (B) Reduction \ ﬁ:
. <t
(C) Electrolysis {4 (D) Calcination i)
(E) Question not attempted il
m%mﬁwﬁmﬁﬁmmaﬁnﬁmﬁmma b
o () k.sf‘.: (), e =
(@ I (D) | ()
31\::|ﬁ|ta 94 1_5
' L = |
127 Anodising is: tﬁ
- - . q’
(A) forming a thick oxide layer on the metal surface L)
(B) depositing a lay€riof zinc on metal surface |
- 3 o
(C) oiling the metal Qgrface i
(D) painting the metalisurface ™
1

) ok
(E)  Question not att_’ampted

b

IR & o
MWWWMW@W%W (B) wmwﬁm:ﬁmﬁa}ﬁﬂm
(C) oI R e S ) Wmaﬁﬁemﬁ
() orgaf@ e ﬁiz ;_g
128 The electronic conﬁgu[atlons of three elements A, B and C are: cnl
A-2,8;B-2,8,7andi€-2,8,2. ‘ ™
Which of the followinggtatements is true? v
(A) Bisametal :ﬂ.g (B) Cisanon-metal.
(C) Bisanon-metal and C is a metal. (D) Aisametal 2
" (E)  Question not attempted i
T At A, B 3T C 3 geragien o= s <y
A-2,8;B-2,8,731‘¥§;§C-2,8,2%l ﬁ
Freafafiaa & & i a1 FoF 9 @2 >
) Boramdy ®) Cuwwomgdh T
)G)/quamm% 35{‘00:%?11@% (D) ATHUTR
() omaf@wa 3
129 Which of the following i} IS the precipitate in the given reaction? Ty
s rfef 3 oy i TR 82 ok
Na,S0, (aq) + BaCl;_ (a;) —> BaSO4 (8) * 2NaCl (aq) :2
(A)  Baso, (s) Wi (B) BaCly(aq) P
' (D) Na;SOq4(aq) i

<€” NaCl (aq) 52
(E) " Question not attgnipted / et T4

S17 ] ﬁ
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130 Match List-I with List-I1 :

List-I List-TI
(Reactionmcactanl) (Effect)
. Oxidation I. Gain of electro-n \
b.  Reduction II.  Electron accepting SPB_C":S
¢ Reducing agent " III.  Electron loosing SPeCIes
d. Oxidising agent IV. Loss of electron
-1 g1 @ ghAfer i
g1 et-11
(%GTHREF) 8\ . () .
0 SHEET I sdmmE i
b. A L Tdreg e e ATl TSt (S
¢  ERE 0L s @ areft el (s
d.  3ides IV. Soge ol gl
Choose the most appropriate answer from the options given below:
< R e et 8wt g SR IR
(A) a-NLb-I,c-IV,d-1I B) a-ILb-IV,c-1Ld-II
_4€y a-Lb-1V,c-ILd-TI (D) a-IV,b-Lc-IId-TI

(E)  Question not attempted / ST T4
131 Select the incorrecty matched pair of National Park and the state. (Choose the most appropriate option fro

below:)
(A) Satpura National Park - Tamil Nadu (B) Kevla Dev National Park - Rajasthan
(C) Kajiranga National Park - Assam (D) Bandipur National Park - Karnataka

(E) Question not attempted

T M qT T4 & Sied S T = i) (T 3 & ot 39 fashed o)

TS T ST -aferTg (B) FaARd T IeH-TSEAT
(©) IS TSR Sam-37aq (D) SEY U STH-Stew
(E) orgeia s

132 Select the method used for calculation of real value of good seed.
Germination percent x Purity percent

(A) = (B) Germination percent %100
Purity percent
2 (Germination percent + Purity percent) Purity percent
©
100 (D) Germination percent 00
(E)  Question not attempted
Wm‘m%mﬁmm%qﬁmﬁ%%ﬁmﬁaﬁaﬁﬁﬁﬁrﬁgﬁm
100 : )RR NN
(2 (ST SRIT +- gz whigra) | go R o
: 100 GV whasra

(E)  ygafawx

: ' 0
SI71 iy . [PT.
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gelect the incorrectly matched combinati ‘ : del 10 pre
g plant. ation of characters and contrasting traits studied bY Mef

(A) Seed Shape : Round / Wrinkled inal

B oy N T : mina
(©) Pod. Colour : White/ yellow B} Fiawerosillog oAial 1=
. (D)  Seed Colour : Yellow / green
(E) Question not attempted
0 e Toh T Forrdiar Foroen v ot 36 wrerey g ey ot 201 )
) afist o TR T/ e e fiden
el T 7 R e el il i

© PR (D) st @ : iy 7

(E) ITFaRa qA
34 Anbio-active molecule, » that is used as an immunosuppressive agent in organ-transplant patients;

produced by a fungus.

(A) statl.ns ) (B) cyclosporin A

(C) lactic acid (D) streptokinase

(E) Question not attempted

waE SR, %ﬂwmmmﬁnﬁmﬁﬁwm%wﬁﬁﬁﬁﬁww;& el

I U Haeh 9 foham SITar 21

(a) wR= ARFATTIRA-T

©) s e (D) VWS

(E) rgaia w4
135  Select the incorrectly matched pair of plant and its economically important part.

(A) Papaver somniferum - fruit (B) Emblica officinalis - fruit

(C) Cinchona officinalis -Bark (D) Centella asiatica - Bark

(E) Question not attempted

TR S TE STl T ATeY T ¥ T At e S el

(A) FETEE - B TR SRR - W
() o SirARAfaE - o1 (D) Hee ufirafeT - BT
(E) Sraf@yd
136  Choose the most appropriate English word for the given word- arfimgo,
(A) Seizure (B) Regulation
Abatement (D) Deferred

(E)  Question not attempted

37 Choose the most appropriate word to complete the following sentence:

An inscription on a tombstone is termed as =

(A) agrave (B) anepitaph

a sermon (D) acemetery
i3 (E)  Question not attempted .
B’/Ch))ge the word opposite in meaning to ERUDITE
A) Illiterate (B) Crude
(C) Learned (D) Boring

(E)  Question not attempted

(PTq
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139

140

141

142

143

In which Indian state the rare butterfly ‘Neptis Philyra’ has been discovered?

(A)  Arunachal Pradesh (B)  Himachal Pradesh

(C) Jammu 'm(i K'I.‘;hl'l‘nr (D) Uttarakhand

(E)  Question nﬂ ;11lcmplcd f:
get foeft “Mew et o s v & ey qrmy oy 78 22 b
(A) W‘I&W (B) fearaer 2T =i
©) wﬁtﬂﬂt (B TS @
(E) refawe_, !
Who has become the first woman scientist to win the ‘G. D. Birla Award’ fof scientific research?
(A Dr. Aditi Sen De (B) Dr. Rani Chatterjée '
(C) M. Fatima Blbl (D) Sipra Guha Mukherjee
(E)  Question npt attempted e 3
aﬁrﬁmm%m‘aﬁé}ﬁww * St areft weeft gfear dfies H

(A) <0 iy I 21, T et ﬁ_q
© ‘Frﬁm%ﬁé‘t ' D) fmErgest i
(E) aﬂaﬁ?rw i

Out of 2000 employees n an office, 52% are graduates. 60% of the employees are male and 50% of ther

employees are graduates Then how many female employees are graduates? ©

20003&?«1&3@'%@&52%%% 60% FHIRT T8 3 3R 50% To8 FH=HT T 3 fri 7

(A) 430 =g B 440 S
(C) 460 ' (D) 410 iﬂ
(E)  Question n0t atternpted / TR 9 { é;
The value of 10g927 +logy79 is: |
logs27 + logy,9 HI UM 2: ' >
(A) 13/6 ; B) 12 ™
Lo
©y”? 9/5 ot (D) s/6
(E) Question npt'pitempted / 31":[3&?{ e 0

In the figure gwen;bc]ow PQR is a triangle. QR is parallel to PM. If QRTE{' then what is the val¥

ZRPM? ¥

S
fradimd a@ﬁ{ftyQR u T 81 QR , PM & o= 81 ot QR=PR §, ?1;3::_(’[{111\,1 T A R

™~
™

L |

\0)
'{j{l
i)

(A) 80° e (B) 100° i
(C) 95° 4 (D) 70° v
(E) Question not attempted / aﬂﬂﬁﬂ oq : M

s17 | ofi 30 v
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144 Vikram Sarabhai Space Centre is located at-

Thi
(A) hl;“"a‘;lamhapumm (B)  Sriharikota
(C) Hyderabad (D) Bengaluru
(E)  Question not attempted
TS W e (3fatier ) Rera -
faraq (B)  AfefeEhrer
(C) TEwE EUE
(E) STgafia
145 A coil of wire has an area of 600 sq cm and has 500 turns. If it carries 1.5 A current, its magnetic dipere
moment is -
(A) 15Am? (B) 30Am?
(C) 45Am? (D) 10 Am?

(E) Question not attempted

e 500 31 i AT Y Ut ohT ke 600 et &1 Af eeti A 1.5 t&qmagaumwmém%,?ﬁ?@‘ﬁ

i e faya e 2 - ‘
(A) 15 YfrgHi? @B) 30 Vg
(C) 45 NftqawHie? (D) 10 VfrrHie
(B) igaia e
146 When the cornea is not spherical in shape, the defect of vision in this eye is called -
(A) Hypermetropia “ (B) Astigmatism
(C) Cataract "V (D) Myopia

(E) Question not attempted -

S T (erTsHe) e T e e, a‘rmm%ﬁaﬁgﬁ%wﬁwﬁm%

(A) &) (B) tfemfesy (aregeRd)
T @hfrfg) () i FEE)
(E) IIgafasd
147 oty g i fafea 3w @-
il £ B d
© 3 D)
(E) JIgai@ayd
148 yﬁmwaﬁ% i
2rd B) s@fe | .
© m oo
(E) aagﬂﬁ?fw
149 ﬁﬂﬁi’@ﬂﬁﬁ%ﬂﬁmuﬁmﬁ%‘?
Ay = /(m/mﬁm
(C) 7= (D) WawR

(E) Hufay4
150 < 3 STrar T e % o e 48 B €7 \

yﬁ"zﬁw M |
i agaﬁ?rw :
o ﬁ N [PTq



